
52

Contents
Previous 

Page
First 
Page

Next 
Page

Previous 
View

Fig 6.7  Vision 11 Pan and Tilt Head - Pan Bar

V100IP07

1 2 3 4

10

5

11

7

15

8

14

9

12

6

13

17 16

18 19 20



53

Contents
Previous 

Page
First 
Page

Next 
Page

Previous 
View

Fig 6.7  Vision 11 Pan and Tilt Head - Pan Bar

Item
No.

Part 
No. Nomenclature Qty

3219-69 Telescopic pan bar, consisting of:

1 M006-113 Screw, csk Pozi hd, M5 x 12 mm lg 1

2 M606-001 Washer, nylon, Skiffy 07-3-5 1

3219-70 Pan bar clamp assembly, comprising: 1

3 3219-298 Pan bar clamp 1

4 G249-007 Sleeve, nylon, Skiffy 18-8-2 1

5 M600-009 Washer, M8, heavy 1

6 3219-75 Pan bar clamp knob assembly 1

7 L701-004 Circlip, external, AM1400-31 1

3219-36 Pan bar assembly, comprising: 1

3219-37 Pan bar fixed, consisting of: 1

8 3219-229 Spigot 1

9 3219-227 Sleeve 1

10 3219-255 Pan bar 1

11 J550-074 Hole plug 1

3219-38 Pan bar outer, consisting of: 1

12 3219-253 Pan bar grip 1

13 J550-093 Hole plug 1

14 3219-49 Outer tube/clamp assembly 1

15 3219-217 Sleeve, shrink-wrap 1

16 M500-082 Nut, M6, full 1

17 3429-299 Pan bar clamp (M6) 1

18 3219-267 Clamp lining 1

19 M600-007 Washer, M6 1

20 K403-004 Knob 1


